Atomic mass/Isotope abundance questions

Antimony (Atomic weight 121.75) has two naturally-occurring isotopes with isotopic weights 120.9038 and 122.9041. What is the percentage abundance of the heavier isotope?
Silver (Atomic weight 107.868) has two naturally-occurring isotopes with isotopic weights of 106.90509 and 108.90470. What is the percentage abundance of the heavier isotope?
Silicon (Atomic weight 28.0855) has three naturally-occurring isotopes with isotopic weights 27.97693, 28.97649 and 29.97376. The abundance of the lightest isotope is 92.21%. What is the percentage abundance of the heaviest isotope?
Gallium (Atomic weight 69.72) has two naturally-occurring isotopes, the predominant one being 69Ga with isotopic weight 68.9257 and an abundance of 60.47%. Which of the following isotopic weights is the most likely for the other isotope?
Rubidium (Atomic weight 85.4678) has two naturally-occurring isotopes, the predominant one being 85Rb with isotopic weight 84.9117 and an abundance of 72.15%. Which of the following isotopic weights is the most likely for the other isotope?
Assume that the element 107Uns is synthesized and that the sample contains 39.8% 270Uus (269.4 amu), 35.2% 271Uns (270.3 amu) and 25.0% 272Uns (271.2 amu). What is the value of the atomic weight?

Rhenium (Atomic weight 186.207) has two naturally-occurring isotopes with isotopic weights 184.9530 and 186.9560. What is the percentage abundance of the lighter isotope?
Assume that the element 108Uno is synthesized and that the sample contains 25.2% 272Uno (271.4 amu), 30.8% 273Uno (272.3 amu) and 44.0% 275Uno (274.2 amu). What is the value of the atomic weight?
Hydrogen is found primarily as two isotopes in nature. 11H (1.0078 u) and 21H (2.0148 u). Calculate the percentage abundance of each isotope based on hydrogen’s average atomic mass. 
Lanthanium is composed of two isotopes  13857La (137.91 u) and 13957La (138.91 u). Look at the periodic table. What can you say about the abundance of 13857La? 
Rubidium ignites spontaneously when exposed to oxygen to form rubidium oxide, Rb2O. Rubidium exists as two isotopes: 8537Rb (84.91 u) and 8737Rb (86.91 u). If the average atomic mass of rubidium is 85.47 u determine the percentage abundance of 8537Rb ? 

Oxygen is composed of three isotopes 168O (15.995 u), 178O (16.999 u) and 188O (17.999 u). One of these isotopes, 178O, comprises of 0.037% of oxygen. Calculate the percentage abundance of the other two isotopes, using the average atomic mass of 15.9994 u. 

